UCNI LIST - Linearna enacba

Resi enacbo:
a) 4x—-3=2x+7 c) 4-(x+1)-7=x+3

b) 3x+2=5x+8 d) 5-(x—-2)=2x+7

Resi enacbo:

a) 4—6-(x—3)=x+9 d) 2-(2x-1)-5-(3x+1)=8x-3
b) 3-(x—6)-5=4-(2x-3) e) —4-(2—-3x)—2-(5x—1)=7x+6
c) 2—-4-(3x-1)=3-(2x+1)-4x f) 3:(2-5x)-5-(x—2)=4-6-(x-2)

Resi enacbo:

a) ix-1=x+2 d) Ix—%=56X+3
b) 3x—2=1x+3 e) 2Xx+it=5HXx-2
0 $x-1i=2¢-} 0 dx-i=gx+i
Resi enacbo:
a) 2 _5x45 g 284X
7 3 2
b) 3x+5+1=§ &) 4x-3 _, x-5
12 7 3
0) 4x—3_§=§ f) 3x—5:1_x—2
6 4 9 8 3

Resi enacbo:

2 3x-7_1 6x+2 3 _2x-7

a) d) - =
3 4 6 5 10 10
b) 3x+4:3_2x—3 0) 5X—7+g=3x—1_§
5 2 8 3 4 6
0 4x—7+l=§_x—5 f) 4X—3_l:7x+2_§
6 4 3 5 2 10 4

Resi enacbo:
3x-2 2x-1_4x+3

2X=5 3x—7 _8x+1l 5x-2

a) d)
4 2 8 9 6 3 4
TX+1 3x+2 4x+9 4x+3 3x-5 3x-8 7x
b) - =X— e) - = -—
5 3 15 2 4 6 12
2Xx-5 5x-3 9-4x 5x+2 8x+1 7x+3 4x-2
C) — =2— f) - = —
6 4 8 4 9 6 3
Izrazi zahtevano neznanko iz dane matemati¢ne oziroma fizikalne formule:
a A=F-s; F=? d) EZE'TX; S =2
b) y=k-x+n; x=? e) Q=c-m-(T,-T,); T,=?
T-r’-v ) - X,

=7

0 V=TT ve f) FA:F1~I_TX1+F2~ -



8) Resi neenacbo:
a) 2x—-3<x+1
b) 3x—8<5x+2
c) Sx+3<-2x-3

d Ix+2<4x-3

9) Resi neenacbo:
a) 3X-5<x+3<2x+4
b) 4x—2<7x+5<5x+7
C) 2X+3<4x—7<-2Xx+5
d) 3x+2<5x—4<8x-6

10) Resi neenacbo:
a) 3X—2<5x+4<Xx+6
b) 3x—4<2x+5<6x+8
C) 2x—3<4x-5<-2x+1

d) §:§>x+324+3x

11) Resi neenacbo:
5—3x<—2(3—x)

a) < +X—2
7 3
b) —1>(x—2y(x+2}{x—1f
0 4-5x _ 2-(4—x)+2_x
3 5

d)(x+3f—(x+5f§(x+6f—(x+4f
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